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Question 1.Select the related word/letters/number from the given alternatives.
&3 T fashedl # O Tefetre Qee/37&RT/HETT Y YT
Paw:Cat::Hoof:?

g : foeelr i g e ?
Options:

1) Man

Elice)

2) Elephant

grir

3) Lion

2R

4) Horse

gigr

Correct Answer: Horse
isT

Candidate Answer: Lion
R

Question 2.Select the related word/letters/number from the given alternatives.
&3 T fashol & O TefetreT Qse/37&RT/HEdT Y YiAT|

JMPS : ADGJ :: QTWZ: ?

Options:

1) OLRU

2) LORU

3) LOSU

4) LPRU
Correct Answer: LORU
Candidate Answer: LORU

Question 3.Select the related word/letters/number from the given alternatives.
&3 7 ool & & Hafetra 2ree) 3Ri/dedr &1 giav|

841:29::289:7

Options:

1) 23

2)21

3)17

4) 13
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]

Question 4.Find the odd word/letters/number pair from the given alternatives.
e o fashot & & fwe ereey srery/deaT 39 9w
(A) Violin (B) Piano (C) Flute (D) Harmonium

(Ayarafert (b) R (C ) gl (D) erAfTH
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Options:
1)A

2)B
3)C

4)D
Correct Answer: C
Candidate Answer: C

Question 5.Find the odd word/letters/number pair from the given alternatives.
T3 71 Taehedt &1 @ fawar erse/ 3raR/HEdT Zoa gfav|

(A) ZVR (B) ZYX (C ) QMI (D) IEA

Options:

1)A

2)B

3)C

4)D
Correct Answer: B
Candidate Answer: B

Question 6.Find the odd word/letters/number pair from the given alternatives.
T3 T ool & § Tawa efee/ 3aR/HEdT Zod giAv|

(A) 24 (B) 49 (C) 64 (D) 81

Options:

1A

2)B

3)C

4)D
Correct Answer: A
Candidate Answer: A

Question 7.Arrange the following words as per order in the dictionary.
el ereel &1 ersganter & fT 91T e & IHER fafEe ?

1. Incompatible 2. Incomparable 3. Incongruous 4. Inconsistent
Options:
1)2,14,3

2)34,2,1
3)4,2,1,3

4)2,1,34
Correct Answer: 2,1,3,4
Candidate Answer: 2,1,3,4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TAFflere vt & Ueh 3felshe T &, TSt weh ve ofcdt 81 &0 1w fashodt &1 & a T8 fashed AT it 3fefshet shl X AT & ?
dem, fgo, hiq,

Options:
1) jkt

2) ikp
3) jks

4) kit
Correct Answer: jks
Candidate Answer: jks

Question 9.Which number will complete the series?
Aeafaf@a fafhedt & & ag dear giaw s vt & & a1$ AR A g el ?

1,8,27,64,125,216,
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Options:
1) 354

2) 343
3) 392

4) 245
Correct Answer: 343
Candidate Answer: 343

Question 10.A man said to a lady, "Your mother's husband's sister is my mother." How is the man related to the lady.

Toh &Y & Teh Higell A Fgl, " JFeRT Al & Gicd T sgeT 2 AT &1 38 27 T 38 HAfgel & 7 6eier § ?
Options:

1) Cousin

TR IS

2) Brother

IS

3) Son

Eri

4) Nephew

1T

Correct Answer: Cousin
TR S

Candidate Answer: Nephew

STciatr

Question 11.The distance between two cities is 30 Km. A man goes at a speed of 30 Km per hour and returns at 20 Km per hour. What is his average speed?

2 gl & ofter i g 30 .M. &1 ek safdd 30 for.A./eer dr arfer & e §, 3R 20 fon. . /der dy arfar & a3 &) 3w stea afa g ?
Options:

1) 25 Km/hr

25 fp.at./ wer

2) 24 Km/hr

24 TR, / ger

3) 10 Km/hr

10 .. / ger

4) 26 Km/hr

26 fR.a. /ger

Correct Answer: 24 Km/hr
24 .. / wer

Candidate Answer: 24 Km/hr
24 TR0, [ wer

Question 12.From the given alternative words, select the word which can be formed using the letters of the given word:
AT fashed & & a8 Uec; AT S 5@ 9o & feT 1T 2Tee; & 3HERT T TIWT Hh TR ST Hehell § ?

COMPANIONSHIP

Options:
1) OPEN

2) OPIUM
3) OPINION

4) NATION
Correct Answer: OPINION
Candidate Answer: OPINION

Question 13.If THOUGHT is coded as THGUOHT then THROAT will be coded as

Ife THOUGHT & THGUOHT forar SirdT &, ar 34 his F THROAT T vl forar smear ?

Options:
1) TAROHT

2) TAORTH
3) TAROHH

4) TAORHT
Correct Answer: TAORHT
Candidate Answer: TAROHT
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Question 14.If (—) stands for division, (+) stands for multiplication, (<) stands for subtraction and (x) stands for addition, which one of the following equations is
correct?

T (-) T AT 3T, (+) HT AT I[=AT, (<) T FcTold T, 3R (x) T ATl STAT &, AT AT 3 F Rl -A7 FlehoT TET 8 ?
Options:

1) 100+5-10x250+200 = 100

2) 200+10-20x200+100 = 150

3) 50x5+10+100-75 = 50

4) 300+5-20%200+100 = 200
Correct Answer: 100+5-10x250+200 = 100
Candidate Answer: 100+5-10x250-+-200 = 100

Question 15.1If, 1*2=1,
2*3= -1 and
3*4= -5, Then find the value of 7*¥9=?

gfg1x2=1

2*¥3 =-1

3%4 = -5gnar

7*9 T AT A PfST ?
Options:

1) -47

2)-29

3)-2

4) -9
Correct Answer: -47
Candidate Answer: -2

Question 16.Find the missing term in the following question:-

el weat & ofcd 3ieh il hifeTT ?
i 8
o4 2

Options:

1)3

2)9

3)1

47

Correct Answer: 1
Candidate Answer: 3

Question 17.A girl walks 30m towards south, thn turning to her right she walks 30m, then turning to her left, she walks 20m, again she turns to her left and walks
30m. How far is she from her initial position?

Teh SISehT GIEI0T T 3] 30 HeX Teach §, T g alfegety 3R #3e 30 #iex Treielt §1 T sl 31T a3t 20 #iex Tercll &1 TR & 2/aIRT STAT 31T #73eRT 30 #ieT reofelt §1 31
qE 3N IR T § Frersi gy & 2
Options:

1) 20 mtr

20 e

2) 30 mtr

30 #rex

3) 50 mtr

50 #rex

4) 60 mtr

60 #frex

Correct Answer: 50 mtr
50 #ex
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Candidate Answer: 50 mtr
50 #Hex

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: No man is a donkey. Ajay is a man.

Conclusion I: Ajay is not a donkey.

II: All man are not Ajay.

TR v 7 Ueh I1 Y aFdey Y I &, foraeh 31 &) Asahs/AId, 1 3R 11 Ay 73 & 3m9en! fAaR e § & aaded acg § I 98 A e T azai &
et Tl 81T &1 3T AT e § o U 10 aodey & | Fla-a1 RRad &7 & T8 [Ases /A= el 57 GehdT & ?
T : PTG HTCHT TT 6T § | IS IS 8

TSRy 1 1) 37T 14T 78T B

11 ) & 31 391 =187 €1

Options:

1) Only conclusion I follows

hael forsery [ kol &

2) Only conclusion II follows

haer forserd 11 fRehelcr &

3) Both conclusion I and conclusion II follow

AT faseny fosher §

4) Neither conclusion I nor conclusion II follows

AT AT IR AT I Ty Apera &

Correct Answer: Only conclusion I follows

el sy [ Aehordr &

Candidate Answer: Both conclusion I and conclusion II follow

A=t fasshy frpera §
Question 19.Find the number of triangles in the figure.

& 78 ey 3 Rt Fger & 2

/ |
/l |

Options:
1) 12

2) 14
3) 16

4) 18
Correct Answer: 12
Candidate Answer: 12

Question 20.14 notebooks of a class were corrected with ink pen while 22 notebooks were corrected with colour pencil. If 4 notebooks were corrected with both,
what is the strength of class?

T3l T ST 14 Alegsh o 9T @ Sl 1S, STeifeh 22 Alegsh W Gffe & ST 1S AT 4 Ale o ST & ST a1$ g, At et A o H dedr e g ?

Options:
1) 30

2)32
3) 28

4) 25
Correct Answer: 32
Candidate Answer: 32
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Question 21.Which answer figure will complete the pattern in the question figure?

et AN Seal MR Teat Jrpiar & gfaed i qur et ?

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 9T ST 3T 7 F 38 ST Pl A YlAT Foraad yeaf 3epict et & ?

Options:
1)
/ ..\X/ \
\ V. N
e
2)
3)
| | g™ |
\
\
4)
Y P
17
\
AL TATN
N Y N\
Correct Answer:
LN
/ \X / .!\
\ V. N
MY h

Candidate Answer: [ NOT ANSWERED ]
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Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I el hrarer 1 T e 3 i o 3TN s Fest AT Wiele! & a1G I8 fohd Seal¥ 3Ty Sra fes e ?

PLEmarEmus S i FrH
N ,9 = / o)
I
: T fe A~
T T B i
Options:
1)
P N
{ Y
\ L]
M,
Hh NN [P
|
2)
B <Ol LB
'f&’: ' ‘\
AL ! bla
-] 5 'J
3)
[ 'J" £ 'h‘
:{_ ole—11 }
A a | | [ f
[ \ Bl /
4)
- i P
_rt_q \‘
e o \
[ P
- | [ LA
ol e
|
[
Correct Answer:
L .;__4;_. e |
J{ | o)
{ ] ] A
| ‘_
N
<ple2
|
[T 11 |
Candidate Answer
B Cid LR N
J{ | o)
{ I A
| ‘_
N
<ple2
|
[ 11 |
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

IfE T GIOT H MN @7 O T@T 1T AT & 718 Sea] HHiaal 7  HleT-r 3pia weef e 1 @ sfafass giefr ?

MZL4 4 £ £ 27N

Options:
1)
|
ALY
&
2)
|
_in
(R
| =
| [
[ v
|
3)
= EEE.vwrl
/
e
)]
N
4)
)
‘g |
i
[
[N
[ [
Correct Answer:
N/
‘g |
i
[
g i
[N
[ [

Candidate Answer: [ NOT ANSWERED ]
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Question 25.In the question, a word is represented by only one set of humbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its coloumn,e.g., A can be represented by 14,21,33 etc., and P can
be represented by 56,75,87 etc. You have to identify the set for the word 'ARTS'.

frerfof@a weat # fasrest 7 T 7Te GEar-wagg, 31aRT & ar F9it gawT G=iTe 91T §, SW 3% o few a7w o Jmeggl # §1 amegp [ & W iR dRa fr e o w4 aw &
TS §, RIS L1 & 58 9 A, 37 3Gl § T 38R T Ugol 3HD0T Utard R TG 37 T3 AT GaNT G2IAT ST HehelT § 1 38607 & [T, A &I 14, 21, 33 3177 gaRT
SR ST WAt § AT P Y 56, 75, 87 3T SR GRIAT ST HehelT &1 38 ARG A 3! 4T 21q 'ARTS' & forw | ot agametett 51

Matrix-1 Matrix-1l

i) 1 2 3 L 3 L 7 g 9

0 B H A R T 5 5 P E A K
1 R T B H A & A K s P E
2 H A R T B 7 P E A K 5
3 F B H A R 8 K 5 P E A
4 A R T B H g E A K 5 P

Options:
1) 02, 12, 22, 67

2) 40, 41, 42, 78
3) 95, 34, 23, 86

4) 65, 22, 23, 67
Correct Answer: 65, 22, 23, 67
Candidate Answer: 65, 22, 23, 67

Question 26.During whose Viceroyalty, the capital of India was shifted from Calcutta to Delhi?

T SRR 3 HITE 3 SR R Y TSTHTT FholdhedT § TATATAR 8T ool Jait ?
Options:

1) Lord Canning

oS e

2) Lord Harding

S gifser

3) Lord Lytton

s foreet

4) Lord Clive

s TS

Correct Answer: Lord Harding
@S gifder

Candidate Answer: Lord Canning
CIEEaTO

Question 27.Who among the following was the court physician of Kanishka?

frfafEd # & #i Ffrss & Tordem & ?
Options:

1) Vasumitra

g

2) Nagarjuna

AR

3) Charaka

Gre

4) Patanjali

Jdeotall

Correct Answer: Charaka
Gre

Candidate Answer: [ NOT ANSWERED ]

Question 28.The region which is a water divide between the Ganga and Indus river systems is

FaTT-o7e) 3N FHE-oTE) = & ofier hleT-T &1 § il STol-819 ol GUh AT § ?
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Options:
1) Haridwar
Rear
2) Namchobarva
AT
3) Alakananda
3lelehelocl
4) Ambala
3Tl
Correct Answer: Ambala
3Tl

Candidate Answer: [ NOT ANSWERED ]

Question 29.Subordinate courts are supervised by

N FIRITAT T TAIETT et AT & ?
Options:

1) Supreme Court

ITATH AT

2) District Court

el =amaTerT

3) High Court

I AT

4) Parliament

pararcy

Correct Answer: High Court
I AT T

Candidate Answer: High Court
I AT

Question 30.Which of the following is the world's top environmental conservation award?

el & @ ler a1 feeT o Falfee 'TATaR0T HETOT TEhR & 2
Options:

1) Golden Bear Award

aMese TR QREhR

2) Golden Panda Award

MeseT 8T R

3) Golden Globe Award

Mg Tellel PR

4) Golden Palms Award

Mg T QREHR

Correct Answer: Golden Panda Award
Mgt ST REHR

Candidate Answer: Golden Globe Award
Mg Telldl PR

Question 31.A galvanometer can be converted to a voltmeter by connecting

Aedatialicr Y, Fa S Y, dlecaiiey 7 uRafda forar ST asarg ?
Options:

1) a high resistance in parallel

AR H 3T gfaer

2) a high resistance in series

Aofr 7 3= iy

3) a low resistance in series

Aofr 7 e gfaRier

4) a low resistance in parallel

FATAR H 3T T

Correct Answer: a high resistance in series
#oft 7 3T wfeRrer

Candidate Answer: [ NOT ANSWERED ]

Question 32.Bee sting contains

FHFET & S H FATEIATE ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDM=_&appid=1a4fff78943b24af40c79deccf09bb87 11/28
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Options:

1) An acidic liquid
3T A

2) a salt solution
o aYer

3) an alkaline liquid
TR ]l

4) a corrosive liquid
TR aTel
Correct Answer: An acidic liquid
3FNT el

Candidate Answer: [ NOT ANSWERED ]

Question 33.Which scheduling service is used to handle traffic with different priorities?

et fieet TrafARe3il & Totet & HROT ¢fther i Tl & forw Fler-dr Riggfolr afdw & wver frar s & 2
Options:

1) Traffic management

¢pe Hasrave

2) QoS traffic scheduling

= 37 TH ¢fthes Ryl

3) QoS Scheduler

377 vH fAsger

4) Qos Manager

FY 30 T Ao

Correct Answer: QoS traffic scheduling
g 30 T ¢ftheh Riggfoler

Candidate Answer: [ NOT ANSWERED ]

Question 34.The outer most layer of Sun is known as

I T T IR WA H FAT Fodd § ?
Options:

1) Chromosphere

AR (JoT Azl

2) Photosphere

TRIT HST

3) Radioactive zone

eaufeea St

4) Corona

FRIT (Fdie)

Correct Answer: Corona

FRIT (Fdie)

Candidate Answer: Photosphere
YRIRT HEeT

Question 35.Highest percentage of carbon is found in which form of coal?

P F hT 5T 7 31Rwaa gfaud Hie= a=T SIar g ?
Options:

1) Anthracite

LI ol

2) Bituminous

fagfr

3) Peat

die

4) lignite

IGLGIE

Correct Answer: Anthracite

LI ol

Candidate Answer: [ NOT ANSWERED ]

Question 36.Which country has the largest internet users?

FloT T 220 F FAIF Seeaie YA FHaT & ?
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Options:
1) USA
T T HAH
2) China
Gic
3) India
AT
4) Russia

4

Correct Answer: China

G

Candidate Answer: China

G

Question 37.The xylem in plants are responsible for:

gt & sefoe Fr sufeufa @ Pfef@a A Frgaré ?
Options:

1) transport of water

STl T dgeT

2) transport of food

WIey 9erd F a5t

3) transport of amino acids

31T 37T T ageT

4) transport of oxygen

3T T d8aT

Correct Answer: transport of water
STl T dgeT

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which of the following cities is the new capital of Seemaandhra?

RfRfRT F & Sl a1 R =T H TS T gl ?
Options:

1) Amaravati

SFRTEAT

2) Secunderabad

Risremg

3) Vijayawada

[EEEEGIE]

4) Vishakhapatnam
IRl EC R

Correct Answer: Amaravati

3FRIEAT

Candidate Answer: Secunderabad

Reexrag

n

Question 39.Which State Government has recently abolished "agriculture income tax

T3 o TR o e €1 H 'V -3 FAICT 9 AT § ?
Options:

1) Karnataka

Fellesh

2) Rajasthan

T AT

3) Bihar

SR

4) Asssam

3aH

Correct Answer: Karnataka
Falleh

Candidate Answer: Asssam
3aH

Question 40.Which of the following is not a method of estimating national income?

Arfaf@d 7 & lot O TSET 3MT & 3HichoreT T Ui 8T & ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDM=_&appid=1a4fff78943b24af40c79deccf09bb87 13/28
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Options:
1) Expenditure method
=7 ggfa
2) Output method
3cUTEe TgTa
3) Matrix method
HITHT (L) FoTelr
4) Income method
3T Tgia
Correct Answer: Matrix method
HITHT (L) FoTelr
Candidate Answer: Matrix method
HITHT (L) FoTelr

Question 41.If the name of a tribe has to be excluded from the list of Scheduled Tribe, who has the power for such exclusion?

e T STToIiel ol STgereT STetolicl shl et & TolenTol=AT 81 oY UET ae o Iferer Tond ey & 2

Options:

1) President

Trsgafa

2) Parliament

ESRicy

3) National Commission for Scheduled Tribes
TSE A SeASiiel 3T

4) Union Council of Ministers

T & ATIAREE

Correct Answer: Parliament

Eararey

Candidate Answer: National Commission for Scheduled Tribes
TSE A STeAsiiel 3T

Question 42.Project 'Sankalp' started for the purpose,

FHeroT' TR foh e TGt & 378 &7 18 ot ?
Options:

1) To eradicate illiteracy

fAREREr 3ol & faw

2) To eradicate Polio

e 3eeert & fow

3) To eliminate AIDS/HIV

TS (TH 37 &1 ) FATT WA & v

4) To eliminate unemployment

SIS FATCT A & forw

Correct Answer: To eliminate AIDS/HIV
TS (TH 3$ 1 ) FATT WA & T
Candidate Answer: [ NOT ANSWERED ]

Question 43.Ring of Fire is found commonly in

ST T Al gl a1 SN § ?
Options:

1) Pacific Ocean

Jeled AR

2) Atlantic Ocean

3Jrcifeed AFRNEIR

3) Indian Ocean

f&ee FETERR

4) Arctic Ocean

3T AR

Correct Answer: Pacific Ocean

YA AGTARR

Candidate Answer: [ NOT ANSWERED ]

Question 44.Which of the following bacterium causes crown gall disease in plants?

TerAfafd & & et & Sharoy & dielt ' fhdie [afesr Aamgr S & 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDM=_&appid=1a4fff78943b24af40c79deccf09bb87 14/28
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Options:

1) Bacillus thurigiensis

Aferew RfomTew

2) Agrobacterium tumefaciens
NFARTH TFhURITE

3) Pseudomonas fluorescens

TR giadfta

4) None of these

FoTH & FIS AET

Correct Answer: Agrobacterium tumefaciens
NIRRT H FFRURITE

Candidate Answer: [ NOT ANSWERED ]

Question 45.Eustachian Tube is located in which part of human body?

TN AT AT R & o a7 7 Ryt gl © 2
Options:

1) Nose

Eica

2) Ear

Eary

3) Eyes

Kiircy

4) Throat

el

Correct Answer: Ear
Eary

Candidate Answer: [ NOT ANSWERED ]

Question 46.Which part of the brain plays an important role in motor control?

ARETSH T it AT HIET A [HIHT 3 AgeaquT AT 37aT AT ¢ ?
Options:

1) Cerebellum

AR (IrARTSH)

2) Cerebrum

QA ( TATETSH)

3) Medulla

aget

4) Pons

Bice:y

Correct Answer: Cerebellum

AR (IATRETSH)

Candidate Answer: [ NOT ANSWERED ]

Question 47.The frequency of direct current is

fse amr & amgfea g?
Options:

1) Zero

w

2) 50 HZ

50 g<of

3) 60 HZ

60 st

4) 100 HZ

100 g&F

Correct Answer: Zero
QLFII'
Candidate Answer: [ NOT ANSWERED ]

Question 48.The veda which deals with the rituals is known as

FieT |1 e U1fdeh IS § HaH @A ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDM=_&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) Rigveda
FIdg
2) Yajurveda
agtc
3) Samaveda
HHIG
4) Atharvaveda
3dag

Correct Answer: Yajurveda

Forde

K

Candidate Answer: Rigveda
ETELY

Question 49.Prime Minister's 'Ujjwala Yojana' is related to

I FAY T ' Ioodell ASTAT fhad TafiT § ?

Options:

1) Free distribution of LPG connections to socially backward classes.

g &0 ¥ TUsg ot # val. o). S 39 & faawor &

2) Free electric connections to members of Scheduled Castes and Scheduled Tribes.
TR ST 3R AT STeTelict o GekdT b ol :feeh TorToll oh haterelet &1 &

3) Mass immunisation campaign for children.

Sl Sl g &R OR G & e &

4) None of the these.

AN AR AT

Correct Answer: Free distribution of LPG connections to socially backward classes.
g &0 ¥ Uog ot & e, o). S 39 & faawor &

Candidate Answer: None of the these.

AH A R A AET &

Question 50.'Agronomy’ is the practice of raising

"HIRE H fhget 3eeta e g 2
Options:

1) Plants and Animals

atet 3R Tt

2) Crop plants

HH dTer aiHT BT

3) Agriculture

ajf& Hr

4) Fruit plants only

el Fell 3 dielt &

Correct Answer: Plants and Animals
atet 3R Tt T

Candidate Answer: [ NOT ANSWERED ]

Question 51.The sum of two positive integers is 80 & difference between them is 20. Then what is difference of squares of those numbers ?

IfE & GetTcHa Uit &7 AT 80 § 3R 3o7aT 31weX 20 &, AT 3o HEATHT & F91f &l e fohcdeTr & ?

Options:
1) 1400

2) 1600
3) 1800

4) 2000
Correct Answer: 1600
Candidate Answer: 1600

Question 52.The difference between the selling prices of an article sold at 4% and 3% profits is [1 3. The cost price of the article is :

Tl a6 & 4% 31K 3% o ol I 1 91 Tashe Hedl &1 3c L 3 §| 30 a8 1 563 373 G ?

Options:
1) 11 400

2) 1350
3) 11 300

4) 11100
Correct Answer: [ 300
Candidate Answer: [ NOT ANSWERED ]
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Question 53.In a school there are 1500 students, 44% of them are girls. Monthly fee of each boy is [1 540 and fee of each girl is 25% less than that of a boy. The
sum of fees of boys & girl is

T Tel # 1500 T & 37 & 44% iRt 1 edd oIgd A AfAE B 1 540 ¥ 3 T w5 B B o5 B F 25% FA §| T3 3 Tsft S fr a e
FATE?

Options:

1) (1 720600

2) [ 720800

3) 11 720900

4) ] 721000
Correct Answer: [ 720900
Candidate Answer: (1 720900

Question 54.The time for a train of length 110 metres running at the speed of 72 km/hr to cross a bridge of length 132 metres is

72 T35, /6T &1 711 & Tkt arell 110 HeX ofdT &oT T 132 e o ol 1 IR el A fhclell T o ?
Options:

1) 9.8 sec

9.8 A&z

2) 12.1 sec

12.1 ¥sq

3) 12.42 sec

12.42 JhsH

4) 14.3 sec

14.3 ¥hsg

Correct Answer: 12,1 sec
12.1 Ghsq

Candidate Answer: 12.1 sec

12.1 ¥sg

Question 55.
Simplify the equation

(0.73)% + (0.27)3
(0.73)2 + (0.27)? — (0.73)x(0.27)

(0.73)% + (0.27)3
(0.73)% + (0.27)? — (0.73)x(0.27)

Fr
Fa F=T ?
Options:
1)1
2) 0.4087
3)0.73
4)0.27

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 56. 1

If v+ 1= ,thenthevalueof 7, —
) x b
is

AG x + = = -2, %7 + = F A F41 geM?

Options:
1)1

2)-1
3)0

4) -2
Correct Answer: -2
Candidate Answer: [ NOT ANSWERED ]
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Question 57.In a circle, two arcs of unequal length subtend angles in the ratio 5:3. If the smaller angle is 45° then the measure of other angle in degrees.

'Teh godl H, TaVH oIaTS arel &1 =Y, U T 5:3 & AT H AR P &1 T ST HI0T 45° 27 8, A GEL HI0T H1 AT 47 gl ?

Options:
1) 75°

2) 720
3) 60°

4) 78°
Correct Answer: 75°
Candidate Answer: [ NOT ANSWERED ]

Question 58.The orthocentre of an obtuse-angled triangle lies

TR FARIUN TR 7 o ey gl BT 2
Options:

1) inside the triangle

Paager 3 sfrere

2) outside the triangle

Faugr & e

3) on one side of a triangle

T333eT & weh 3N

4) none of these

ST A S G

Correct Answer: outside the triangle
Paager 37 e

Candidate Answer: [ NOT ANSWERED ]

Question 59.If a.sin 45°.cos 45°.tan60° = tan245° - cos60° then find the value of a ?

& a.sin 45°.cos 45°.tan60° = tan245° - cos60° &, AT a T AT FAT§ ?
Options:
1)

1

V3

2)
V3

3)1

4)

V3
2

Correct Answer:
1

V3

Candidate Answer: [ NOT ANSWERED ]

Question 60.Ganesh, Ram and Sohan together can complete a work in 16 days. If Ganesh and Ram together can complete the same work in 24 days. The number of

days Sohan alone takes, to finish the work is

0T, T 3N AgeT FAerert o & it 16 ot 3 1 T Tt §1 3 aroter 3R 1T fRorent 33 1T ot 24 oot 3 QU X Tt §, @Y TigeT 1 3ol 3 &I 1 del

fordel feeT ey ?

Options:
1) 40

2)48
3) 32

4) 30
Correct Answer: 48
Candidate Answer: 48

Question 61.The radius of base of a right circular cone is 6cm and its slant height is 10cm. Then its volume is

(use N = 22/7)

T S Goolr i 1 3R s 6 A, B 3R 3@t forder 3 10 A 8| oY 3w 3T R g ?

(M =22/7 FIARTH )
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Options:
1) 301.71 cm3
301.71 .43

2) 310,71 cm3
310.71 A.#.3

3) 301.17 cm3
301.17 &.#%.3

4)310.17 cm?

310.17 @43

Correct Answer: 301.71 cm3

301.71 @43

Candidate Answer: [ NOT ANSWERED ]

Question 62.A shop keeper allows 20% discount on the marked price on his articles. Find the marked price of an article for which he charges 1 740

Teh GEhIRTER =T a3 & 3ifehd e TR 20% T e & &1 T g o folw ag 1 740 I &, 36 ¥ 1 3ifehet o 31T Hiford ?
Options:
1) 11725
2) [ 875
3) 1 925

4) 1 1040
Correct Answer: [ 925
Candidate Answer: [ NOT ANSWERED ]

Question 63.A truck covers a distance of 550 metres in one minute where as a bus covers a distance of 33 km in 3/4 hours. Then the ratio of their speeds is :

T g U fAeTe 3 550 e 1 gt 7 T § STafer a9 3/4 € # 33 5.7 gl 7 Fcl &1 ey 1Y a7 Jreyner R Y 2
Options:

1) 1:3

2)2:3

3) 3:4

4) 1:4
Correct Answer: 3:4
Candidate Answer: [ NOT ANSWERED ]

Question 64.Seven years ago, the average age of A, B and C was 51 years. If A is 3 years older than B and B is 3 years older then C then the present ages of A, B
and C are ( in year)

7 a9 ggel A,B 31 C ¥ 3itr 3mg 51 a9 | ARG A, BA3a¥ 9378 3R B,C A 3a¥ 93T 8, A A,B 3R C &1 aciarier 3y (awt ) Rl @ 2
Options:

1) 61, 58 and 55

61, 58 3tk 55

2) 54, 51, and 48

54, 51, 3T 48

3) 55, 58, and 61

55, 58, 3R 61

4) 48, 51 and 54

48, 51 31X 54

Correct Answer: 61, 58 and 55
61, 58 31k 55

Candidate Answer: 61, 58 and 55
61, 58 31T 55

Question 65.If a2 + b2 + ¢2 = 14 and a + b + ¢ = 6, then the value of (ab + bc + ca) is,

Fita?+b2+c2=143Ra+b+c=6% al(ab+bc+ca) AT FATE ?

Options:
1) 11

2) 12
3) 13

4) 14
Correct Answer: 11
Candidate Answer: [ NOT ANSWERED ]
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Question 66.
If f 21 , then the value of a®+b’is
T

afy 2 E=1,F|Ta3+b3 T AT FIT =2

Options:
1)1

2)0
3)-1

4)2
Correct Answer: 0
Candidate Answer: 1

Question 67.1If O is the centre of a circle of radius 5 cm. At a distance of 13 cm from O, a point P is taken. From this point, two tangents PQ and PR are drawn to the
circle. Then , the area of quadrilateral PQOR is

If& 0, 5 WA, aTer gecl F1 Fwg 1 O F 13 WA 7 gl W, Tk g P foram 972 §1 5 g & gect 7 2 we Y@ PQ 31T PR Wil Siielt €1 &, wfelist PQOR T &rthel
o= g1 ?

Options:

1) 60 cm?

60 .52

2) 32.5 cm?
32.5 .72

3) 65 cm?
65 4,72
4) 30 cm?
30 @32

Correct Answer: 60 cm?
60 ¥.70.2

Candidate Answer: [ NOT ANSWERED ]

Question 68. A, B and C are three points on a circle with centre O. The tangent at C meets BA produced at T. If ZATC = 30° and £ACT = 48°,then what is the value
of LAOB ?

A,B 3R C %75 O aTet geat R e ot feg &1 TV X@T C, BA &I T e Fa1T o1t IR fefell 81 AfE 2ATC = 30° 3R 2ACT = 48° &, & LAOB &1 A FT§ ?

Options:
1) 78°

2) 96°
3) 102°

4) 108°
Correct Answer: 108°
Candidate Answer: [ NOT ANSWERED ]

Question 69.If 3sinB+ 4cos® = 5 (0< 6 <900 ) then the value of sin@ is

Jfe 3sinB+ 4cosb = 5, (0< B <90°) &Y, AY sind T HIT AT gam ?

Options:
1)
1
5

2)

rlwW e

»H
=

orrect Answer:

i w O e

Candidate Answer: [ NOT ANSWERED ]
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Question 70.Two men standing on same side of a pillar 75 metre high, observe the angles of elevation of the top of the pillar to be 30° and 60° respectively the
distance between two men is
T 75 3. 39 @9 & U 3R TS & SAiad TR & A T Seerarer o Fwaen 30° 3R 60° S@dt §| gt safaaat & e g fraet g ?

Options:
1)

100 v3m

10043 #T.
2)100m
100 #I.

3)

(P
]

75

V3

4)

25¢3m
2543 AT

Correct Answer:
100 4/3m

100v3 7.
Candidate Answer: [ NOT ANSWERED ]

Question 71.The difference between compound interest and simple interest on Rs. 5000 for 2 years at 8% per annum payable yearly is

8% a1f¥eh T R (¥ 7 &) 2 & T Rs. 5000 TR THGF§ ST AN WHIROT ATl & ey fohveiaT 3ea & ?

Options:
1) Rs.30

2) Rs.31
3) Rs.33

4) Rs.32
Correct Answer: Rs.32
Candidate Answer: Rs.32

Question 72.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

T 91T urg-are & fonelt &er A faffieet Well W e aw o1 @t fe@mar 13 €1 58 I a7 31eTae RS AR Reafaf@a et & scar S |

if Tennis
Go 10%
12.5% Other
12.5% 10%
Basket ball
Foot ball
15%
Cricket
25% Hockey
15%

If the total amount spent on sports during the year was 1 15,000,000, the amount spent on cricket and hockey together was

I a¥ 7 Well T Fer ] 15,000,000 S ARY T 7 37 A iehe T GIAT 1 TR Tebetatl iRy @l 1 a1 ?
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Options:
1) 6000000

2) 5000000
3) 3750000

4) 7500000
Correct Answer: 6000000
Candidate Answer: 6000000

Question 73.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

T 1T urg-are & fonedt &er A et Well W e av o1 @t e 1 €1 58 I & 31eTae RS AR Reafaf@a et & scak S |

if Tennis
Go 10%
12.5% Other
12.5% 10%
Basket ball
Foot ball
15%
Cricket
25% Hockey
15%

If the total amount spent on sports during the year was (1 12,000,000 , how much was spent on basket ball ?

I @ 7 Well T Fer 1 12,000,000 F TR T 1 37 A SRhesiier IR FctaAr IR T 1 2

Options:
1) 1250000

2) 1000000
3) 1200000

4) 1500000
Correct Answer: 1500000
Candidate Answer: 1500000

Question 74.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

T 7w yrg-are 7 el e 7 e Qell 9X v a¥ 7 T e 9 €1 30 I 1 3rewae Hifedr 3R Aefaf@a geat & sear S |

i Tennis
Go 10%
12.5% Other
12.5% 10%
Basket ball
Foot ball
15%
Cricket
25% Hockey
15%

The ratio of the total amount spent on football to that spent on hockey was

Gealel o foIT T Y a1 el TR TS glehT UL W T 97 Foet TR T 0T 7 AT ?
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Options:
1) 1:15
2) 1:1

3) 15:1

4) 3:2
Correct Answer: 1:1
Candidate Answer: 1:1

Question 75.The given pie chart have shows the spendings of a country on various sports during a year. Study the graph and answer the following questions.

T 91T urg-are & fonedt &er A et Wl W e av o1 @t e 13 €1 58 I a7 31eTTe RS AR Reafaf@a et & scak S |

if Tennis
Go 10%
12.5% Other
12.5% 10%
Basket ball
Foot ball
15%
Cricket
25% Hockey
15%

What is the central angle for the tennis .

e & forw \er hior e sferapr g ?

Options:
1) 36°

2) 63°
3) 33°

4) 66°
Correct Answer: 36°
Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

SYCOPHANT

Options:

1) PSYCHE

2) FLATTERER

3) CRITIC

4) SLAVE

Correct Answer: FLATTERER

Candidate Answer: PSYCHE

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

FORLORN

Options:

1) JOYFUL

2) LUCKY

3) FORTUNATE

4) FREE

Correct Answer: JOYFUL

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Separate

2) Saparate

3) Saperate

4) Seperate

Correct Answer: Separate

Candidate Answer: Separate
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Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The book, being written (A) / in simple language, is suitable for children (B) / as it contains many good advices. (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

You are the man (A) / who have (B) / spoiled it (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: D

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Everyday new inventions (A) / is make (B) / for the good of humanity (C) / No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The man was his deafness
Options:

1) rewarded for

2) cured of

3) convicted by

4) saved at

Correct Answer: cured of
Candidate Answer: cured of

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He is the talk

Options:

1) of the town

2) for the town
3) about the town
4) over the town

Correct Answer: of the town
Candidate Answer: for the town

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I very much like to see my old classmates.
Options:

1) can

2) should

3) would

4) might

Correct Answer: would

Candidate Answer: should

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Old head on young shoulders
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Options:

1) To be intelligent when old

2) To be old and yet look young

3) To be wise beyond his years

4) To be smarter with age

Correct Answer: To be wise beyond his years

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A wild-goose chase

Options:

1) A fruitful search

2) A pointless search

3) To search for a wild-goose

4) A hunting expedition

Correct Answer: A pointless search
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Hard of hearing
Options:

1) To be disturbed
2) To be confused
3) To be deaf

4) To be dumb

Correct Answer: To be deaf
Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The art of delaying
Options:

1) Degeneration
2) Inflation

3) Procrastination
4) Regression

Correct Answer: Procrastination
Candidate Answer: Degeneration

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A doctor who specializes in the diseases of the eyes
Options:

1) Ophthalmologist

2) Optimist

3) Optician

4) Orthodontist

Correct Answer: Ophthalmologist

Candidate Answer: Optician

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Person who eats too much
Options:

1) Cannibal

2) Glutton

3) Obese

4) Carnivorous

Correct Answer: Glutton

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The old woman invited the children to become a part in the celebration in her house
Options:

1) to be apart

2) to take part

3) to take apart

4) No improvement

Correct Answer: to take part

Candidate Answer: [ NOT ANSWERED ]
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Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

You are junior than me in age
Options:

1) to me in age.

2) of me in age.

3) to me at age.

4) No improvement

Correct Answer: to me in age.

Candidate Answer: [ NOT ANSWERED ]

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Wealth is no doubts necessary for happiness in life.
Options:

1) was no doubt necessary

2) is no doubt necessary

3) is no doubting necessary

4) No improvement

Correct Answer: is no doubt necessary
Candidate Answer: is no doubt necessary

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Mumbai is larger than many other towns in India.
Options:

1) large

2) largest

3) big

4) No improvement

Correct Answer: No improvement

Candidate Answer: largest

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

All people want to be happy, do they?
Options:

1) don't they?

2) are they?

3) didn't they?

4) No improvement

Correct Answer: don't they?

Candidate Answer: don't they?

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Worry is a very common thing. Even children worry as much as grown up people. In his childhood, the writer used to fear that his parents would die suddenly at
night. His fear and anxiety was just imaginary.

When he was on the war front in Mesopotamia, the writer came to a certain conclusion on worrying. He was a subaltern officer. It was not his duty to plan future
actions of war. He was there only to carry out what the superiors would decide. So it was useless to worry. When he took that stand he slept soundly without worry.
Here, the writer had some real reason to worry. But he could get rid of it when he found it was useless to worry.

He followed the same principle when he was a prisoner of war and he was in Asiatic Turkey. There, too, he banished his worries because nothing of his future
depended on himself. The future of the prisoners of war would depend on the various governments. Thus he was able to live there without much worry though he
was a prisoner.

But his deliberate suppression of worry during the war and as a prisoner did not wholly eradicate his worries. The fear had gone to his subconscious mind and
remained there buried. After the war the writer was at home. But whenever a member of his family was absent he feared all sorts of mishap happening to him or
her. Moreover, he had a recurring nightmare that he had become a prisoner of war and the war was not going to end. The worries without any real cause here were
the manifestations of the fears that he had banished deliberately earlier.

Why was the writer able to live in jail without much worry?

Options:

1) Because nothing of his future depended on himself

2) He was comfortable in jail

3) Because he was a prisoner of war

4) Because worry is a common thing

Correct Answer: Because nothing of his future depended on himself

Candidate Answer: [ NOT ANSWERED ]
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Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Worry is a very common thing. Even children worry as much as grown up people. In his childhood, the writer used to fear that his parents would die suddenly at
night. His fear and anxiety was just imaginary.

When he was on the war front in Mesopotamia, the writer came to a certain conclusion on worrying. He was a subaltern officer. It was not his duty to plan future
actions of war. He was there only to carry out what the superiors would decide. So it was useless to worry. When he took that stand he slept soundly without worry.
Here, the writer had some real reason to worry. But he could get rid of it when he found it was useless to worry.

He followed the same principle when he was a prisoner of war and he was in Asiatic Turkey. There, too, he banished his worries because nothing of his future
depended on himself. The future of the prisoners of war would depend on the various governments. Thus he was able to live there without much worry though he
was a prisoner.

But his deliberate suppression of worry during the war and as a prisoner did not wholly eradicate his worries. The fear had gone to his subconscious mind and
remained there buried. After the war the writer was at home. But whenever a member of his family was absent he feared all sorts of mishap happening to him or
her. Moreover, he had a recurring nightmare that he had become a prisoner of war and the war was not going to end. The worries without any real cause here were
the manifestations of the fears that he had banished deliberately earlier.

What was the fear of the writer in his childhood?
Options:

1) That his parents might drive him out of home
2) That his parents would die suddenly at night
3) That he might fail in the examinations

4) That he might be made a prisoner

Correct Answer: That his parents would die suddenly at night
Candidate Answer: [ NOT ANSWERED ]

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Worry is a very common thing. Even children worry as much as grown up people. In his childhood, the writer used to fear that his parents would die suddenly at
night. His fear and anxiety was just imaginary.

When he was on the war front in Mesopotamia, the writer came to a certain conclusion on worrying. He was a subaltern officer. It was not his duty to plan future
actions of war. He was there only to carry out what the superiors would decide. So it was useless to worry. When he took that stand he slept soundly without worry.
Here, the writer had some real reason to worry. But he could get rid of it when he found it was useless to worry.

He followed the same principle when he was a prisoner of war and he was in Asiatic Turkey. There, too, he banished his worries because nothing of his future
depended on himself. The future of the prisoners of war would depend on the various governments. Thus he was able to live there without much worry though he
was a prisoner.

But his deliberate suppression of worry during the war and as a prisoner did not wholly eradicate his worries. The fear had gone to his subconscious mind and
remained there buried. After the war the writer was at home. But whenever a member of his family was absent he feared all sorts of mishap happening to him or
her. Moreover, he had a recurring nightmare that he had become a prisoner of war and the war was not going to end. The worries without any real cause here were
the manifestations of the fears that he had banished deliberately earlier.

Where was the writer when he concluded that worry was useless?
Options:

1) The writer was in Asiatic Turkey

2) The writer was at home

3) The writer was on the war front in Mesopotamia

4) The writer was in prison

Correct Answer: The writer was on the war front in Mesopotamia
Candidate Answer: [ NOT ANSWERED ]

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Worry is a very common thing. Even children worry as much as grown up people. In his childhood, the writer used to fear that his parents would die suddenly at
night. His fear and anxiety was just imaginary.

When he was on the war front in Mesopotamia, the writer came to a certain conclusion on worrying. He was a subaltern officer. It was not his duty to plan future
actions of war. He was there only to carry out what the superiors would decide. So it was useless to worry. When he took that stand he slept soundly without worry.
Here, the writer had some real reason to worry. But he could get rid of it when he found it was useless to worry.

He followed the same principle when he was a prisoner of war and he was in Asiatic Turkey. There, too, he banished his worries because nothing of his future
depended on himself. The future of the prisoners of war would depend on the various governments. Thus he was able to live there without much worry though he
was a prisoner.

But his deliberate suppression of worry during the war and as a prisoner did not wholly eradicate his worries. The fear had gone to his subconscious mind and
remained there buried. After the war the writer was at home. But whenever a member of his family was absent he feared all sorts of mishap happening to him or
her. Moreover, he had a recurring nightmare that he had become a prisoner of war and the war was not going to end. The worries without any real cause here were
the manifestations of the fears that he had banished deliberately earlier.

What was the recurring nightmare of the writer after the war was over?

Options:

1) He dreamt that he was a prisoner in a war that was not going to be over

2) He dreamt that his wife was in hospital

3) He dreamt that a member of his family had a mishap

4) He dreamt he was a prisoner of war in Asiatic Turkey

Correct Answer: He dreamt that he was a prisoner in a war that was not going to be over

Candidate Answer: [ NOT ANSWERED ]
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Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Worry is a very common thing. Even children worry as much as grown up people. In his childhood, the writer used to fear that his parents would die suddenly at
night. His fear and anxiety was just imaginary.

When he was on the war front in Mesopotamia, the writer came to a certain conclusion on worrying. He was a subaltern officer. It was not his duty to plan future
actions of war. He was there only to carry out what the superiors would decide. So it was useless to worry. When he took that stand he slept soundly without worry.
Here, the writer had some real reason to worry. But he could get rid of it when he found it was useless to worry.

He followed the same principle when he was a prisoner of war and he was in Asiatic Turkey. There, too, he banished his worries because nothing of his future
depended on himself. The future of the prisoners of war would depend on the various governments. Thus he was able to live there without much worry though he
was a prisoner.

But his deliberate suppression of worry during the war and as a prisoner did not wholly eradicate his worries. The fear had gone to his subconscious mind and
remained there buried. After the war the writer was at home. But whenever a member of his family was absent he feared all sorts of mishap happening to him or
her. Moreover, he had a recurring nightmare that he had become a prisoner of war and the war was not going to end. The worries without any real cause here were
the manifestations of the fears that he had banished deliberately earlier.

How does a cause of worry trouble us if we suppress our worry deliberately?

Options:

1) Causes of worry trouble us in various circumstances

2) Causes of worry remain in the subconscious mind and trouble us through bad dreams
3) Causes of worry cause imaginary anxiety

4) We cannot take actions cautiously and carefully

Correct Answer: Causes of worry remain in the subconscious mind and trouble us through bad dreams
Candidate Answer: [ NOT ANSWERED ]
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